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1. What will the man probably do when he finishes reading the book?
A. He'll return the book to the library.
B. He’ll lend the book to the woman.
C. He'll borrow another book from the woman.
2. What does the man think of the job offered to him?
A. The job is too demanding.
B. It is the job he is looking forward to.
C. He did not like the job.
3. What is George going to do right after he leaves school?
A. To do an English course.
B. To make a plan.
C. To take a holiday.
4. Why was the ‘woman able to finish her work this afternoon?
A. Because she was helped by someone.
B. Because she was not disturbed by anybody.
C. Because she overworked this afternocon.
5. Why didn"t Ann come to the party?
A. Perhaps she was not asked to.
B. Perhaps she did not want to come.
C. Perhaps she busied herself with something else.
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6. What is the man not sure?
A. Whether his friends will come to stay with him.
B. Whether his friends will have gone by Saturday . Y
C. Whether his friends will come to the party with him, - ¢ -
7. How does the woman know whether the man can come to the party or not?
A. The man’s friends will try to tell her his decision.
B. She will get in touch with the man during the week.
C. The man will call her before Saturday.
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8. What does the man want to be?
A. A supermarket manager.
B. A school master.
C. A technician.
9. What is the woman trying to do?
A. To keep her job.
B. To quit her job.
C. To find a job.
10. What is she doing now?
A. Helping her friends.
B. Painting her flat.
C. Taking care of her children.

e 8 Brbbkl, BIEE 11 EH 134,

11. How much money does the woman want to borrow?

A. $5000. B. $1500. C. $500.
12. When must she pay the money back?
A. In three years. B. In three months. C. In three weeks.

13. What is the woman most probably going to do?
A. To fill some forms.
B. To make a careful plan.

C. To visit the bank manager.

WFES 9 BB, BIESE 14 B 16 A
14. What are they talking about?
A. The coming party.
B. The arrangement of the party.
C. Whom to be invited to the party.
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16.

Where is Carlo from?

A. London. B. Italy. C. France.
What is wrong with Carlo?

A. He has spent all his money.

B. He has caught by the police.

C. He lost his wallet.
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17.

18.

19.

20.

How does the man seem to feel after this interview?

A. Nervous. B. Hopeful. C. Excited.

How many pecple were chosen for the second interview?

A. 4. B. 8. C. 16.

When will the man probably get to know whether he gets the job?

A. That afternoon. B. Next Monday. C. Tomorrow.
What does the man’s girlfriend want?

A. She hopes to find a job near the man.
B. She hopes the man finds a job near her.
C. She hopes the man gets the job.
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What can we learn from the conversation?

A. Neither of them knows how to make the machine work.
B. The man knows how to make the machine work.

C. It’s really very difficult to make the machine work.

. What do the cleaners do before the shop opens? .

A. Clean the windows.
B. Clean the floors.
C. Clean the counters.

. What is the man going to do over lunchtime?

A. To attend a meeting.
B. To check the figures.
C. To meet somebody in the office.

. What does the man want to get?

A. A coin. B. Coffee. C. A machine.

. Why has the woman’s car stopped?
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A. There is no gas.
B. It has broken down.
C. It has failed to climb the slope.
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6. What attracted the man?

A. A beautiful girl, B. A motorbike. C. A litter bin,
7. How did he hurt his leg?

A. He fell down his motorbike.

B. He didn’t see the litter bin.

C. He didn’t notice the stairs.
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8. What are they going to do tonight?
A. Go to the cinema.
B. Go to a pary.
C. Go and buy tickets for the movie.
9. What movies doesn’t the woman like?
A. Love stories. B. Foreign films. C. Action movies.
10. What is the man most probably going to do right now?
A. To rent some videos.
B. To buy some books.
C. To find out what films are on the show.
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11. What is the number of this flight?

A. 80. B. 18. C. 81.
12. How long is the flight time?

A. 2 hours, 40 minutes.

B. 2 hours, 14 minutes.

C. 2 hours, 4 minutes.
13. What is the current weather in Seattle?

A. Partly cloudy. B. Rainy. C. Sunny.
14. At what gate will the plane arrive?

A. 13, B. 3. C. 30.
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15. What will Susan have to do at 4:30 that afterncon?
A. To finish her homework.
B. To cook dinner for the family.
C. To collect her brother.
16. What can be inferred from what Susan says?
A. She gets really angry with her mother.
B. She is tired of having to do so many things.
C. She does not want the man to come over this evening.
17. Why can’t they watch a video at Susan’s house?
A. The machipe isn’t working.
B. Susan’s mother is going to use it.
C. Susan’s mother has asked Susan to do something else.

WS 10 BoAbN, IS 18 5 20 /L,
18. How many women died of smoking-related illnesses since 19807
A. About 3 million.
B. About 2 million.
C. About 6 million.
19. What can be inferred from the talk?
A. More and more women start smoking.
B. The number of male smokers is decreasing.
C. Smoking-related illness is one of the major threats to wemen.
20. When did most of woman smokers pick up the habit of smoking?
A. When they entered high school.
B. Soon after they graduate from high school.
C. When they were teenagers.
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1. What is the woman doing?

A. Cleaning her house.
B. Washing clothes.
C. Painting her rooms.
2. Where does this conversation most probably take place?
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A. In a kitchen.

B. In a restaurant.

C. In a shop.
3. What does the man want to know?

A. Who poured the milk into the cup.

B. Who drank the milk in the cupboard.

C. Who spilt milk on the carpet.
4. Where does the conversation probably take place?

A. In a restaurant. B. At home. C. In a shop.

5. What are they going to do?

A. To go to the garden.

B. To stay indoors.

C. To join a party.
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6. How long has the woman lived in Boston?

A. Four years. B. Five years. C. Six years.

7. How long did the woman live in Chicago?

A. Two years. " B. Four years. C. Five years.

WrSE 7 BbOR [EIEHE 8 B 10 B
8. What time will they meet?
A. At four o’ clock.
B. At five o’ clock.
C. At six o clock.
9. What can be inferred from their conversation?
A. They are old friends and haven’t seen each other for a long time.
B. They are going to meet another person in the café.
C. The two speakers have never seen each other before.

10. What will the woman bring?
A. An umbrella.
B. The documents.
C. A bright green sweater.

Wr e 8 BriA st IS 11 B 13 /8,



11. Why does the man suggest that the woman should find a job?
A. Because it is necessary for the woman to have some experience of doing a job.
B. Because the woman needs money for her travel.
C. Because they need the money to support the family.

12. What worries the woman if she works as an ‘au pair’?
A. Whether she could get used to the lifestyle of the family.
B. Whether the family are friendly to her.
C. Whether she could get as much money as she expects.

13, Which of the following is true?
A. The woman has not decided what to do.
B. The man has given the woman a list of agencies.

C. The woman is not interested in the man’s suggestion.

WreE o Brbi i, BIESE 14 25 17 88,
14. Where does Celia work?

A. In a cinema. B. In a hotel. C. In a hospital.
15. On what day is Celia free?

A. On Tuesday. B. On Thursday. C. On Saturday.
16. How many people will be at the party?

A. Ten. B. Five. C. Six.

17. Where will they have their party?
A. In the woman's house.
B. In the man’s house.
C. In a shop where old furniture is sold.
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18. What is the man's uncle?
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A. A rourist. B. A waiter. C. A restaurant owner.
19. Where will the woman be working during July?

A. In the lab. B. On a boat. C. On the shore.
20. When is the best time to go to the shore?

A, July. B. June. C. August.
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1. Why was the thief able to get away?



8

A. Because nobody noticed that something had been stolen.
B. Because the thief had managed to run away before people came.
C. Because the thief ran so fast that nobody could catch him.

. What are they talking about?

A. The party they went to.
B. Tom’s absence from the party.
C. Whether to invite Tom to the party.

. Why does the woman want to have a look at the newspaper?

A. To learn what programmes will be shown on TV.
B. To get to know the latest news.
C. To look at TV set advertisements.

. What are they talking about?

A. An overcoat. B. A phone call. C. A fur coat.

. What the woman would do if she was as bright as Jane?

A. She would find a more interesting job.
B. She would visit lots of different places.
C. She would meet interesting people.

¥-% MTESBAZENA, SRS EAREBEH/LNIE, AEF AN A,
BCEAM#RPAYRERA, FRARLGHEAE, FERTERB AW, REAH
BEEAMNNE, ENES O NEE, ENERS NS DHNELN R, 8REKE
BERHR,

0reE 6 BUbP KL FIE S 6.7 &5,

6. How much does James’ jacket cost?

A. $400. B. $500. C. $£600.

7. What can be inferred from the conversation?

A. The man is as rich as James.
B. The man is much better off than James.
C. The man is pleased to hear what the woman says.

WrsE 7 BekiRl, ISR 8 5 11 &,

8. Why will Louisa go to Bill’s house tomorrow?

A. To attend a party.
B. To meet an old friend.
C. To have dinner with Bill.

9. Why does Louisa have to work late?

A. She has to attend a meeting.
B. She has to finish a report.
C. She has to write a letter.
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10. Why is Louisa going to visit Lisa after work?
A. Because Lisa is sick in bed.
B. Because she has to return something.
C. Because she is going to take Lisa to Bill's house.
11. About what time will Louisa most likely arrive at Bill’s house?
A. 7:00 FM B. 8:00 PM C. 9:00 PM

UTeE 8 B A, I 12 B 14 B,
12. Where is the woman from originally?
A. England. B. The United States.  C. Chile.
13. When did the man and his parents return to the United States?
A. When the boy was 7 years old.
B. When the boy was 10 years old.
C. When the boy was 17 years old.
14. What is the man studying?
A. Physics. B. Maths. C. Biology.

WrEE 9 Bt B 15 5 17 M.
15. For the average driver how long does it take to get to the National Museum of Art?

A. More than 20 minutes.
B. About 20 minutes.
C. About 12 minutes.
16. According to the driver how long does it take them to get to the museum?
A. 12 minutes.
B. Less than 12 minutes.
C. A bit more than 12 minutes.
17. Which of the following is true?
A. The driver is not sure what time the museum closes.
B. The woman can not get to the museum before it closes.
C. The woman wants to know haw much she should pay for visiting the museum.

Wi 10 BATH, EIE S 18 E58 20 &,
18. What kind of school does the boy go to?
A. A middle school.
B. An English school.
C. A Japanese school.
19. How does the boy go to school?
A. By himself.
B. By school bus.
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C. With other boys and girls.

A. Stand up and bow.
B. Line up and enter the classroom.
C. Do reading aloud.

10

20. What do the students first do when they get to school?

ML a

A. Cleaning their house.
B. Cooking.
C. Painting the kitchen.

. What has happened to Ben?

A. He has had an accident.
B. He has broken his arm.
C. He fell off the horse.

. What are they talking about?

A. A bicycle. B. A book.

. What has happened to the woman?

A. She could not find her sweater.
B. She has lost her letter.
C. She’s been late for work.

. What did the woman do yesterday?

A. She went to the cinema.
B. She stayed at home.
C. She played basketball.

A. To go to the theatre.
B. To play volleyball.
C. To work late.
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1. What are they doing?

C. A ball.
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6. What is the woman going to do on Monday evening?
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7. When is she going to meet Julia?

A. On Tuesday. B. On Wednesday. C. On Thursday.
8. What can be inferred from this conversation?

A. The woman has many friends.

B. The woman doesn’ t want to meet the man.

C. The woman is really very busy with her work.

WIS 7 BOMRL, B 9 558 11 A,
9. What time was the fire discovered?
A. At about 9 o’ clock.
B. At about 8 o'clock.
C. At about 7 o'clock.
10. What are believed to be destroyed?
A. Several paintings.
B. Upstairs rooms.
C. Some furnirure.
11. How did the thief get away?

A. In ataxi. B. In a car. C. On a motorbike.
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12. What can be inferred about the man?
A. He is rich.
B. He is poor.
C. He has lost all his money.
13, What do we know about the woman according to the conversation?
A. She loves the man deeply.
B. She loves money as much as the man.
C. She loves money more than the man.
14. Which of the following is true?
A. The woman is angry when she hears the man has lost all his money.
B. The woman finally believes the man has lost all his money.
C. The man wants to know whether the woman truly loves him.
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15. What has happened to the man?

A. He has been stolen.

B. He has locked himself out.

C. He forgot to lock the front door.
16. When did he lock all the windows?




